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(-&) A rectangular warehouse will have 5000 square feet of floor
space and will be separated into two rectangular rooms by

an interior wall. The cost of the exterior walls 1s $150 per x; — So 00
—

linear foot and the cost of the interior wall is $ 100 per linear

foot. Find the dimensions that will minimize the cost of
building the warehouse, — -
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13. A tnangle 1s formed by the coordinate axes and a line
through the point (2, 5) as in the figure. Determine the slope
of this line 1f the area of the triangle is to be a munimum.
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15. Whatare the dimensions of the base of the rectangular box

of greatest volume that can be constructed from 100 square

inches of cardboard if the base is to be twice as long as it is —7 ‘a S 2x ]

wide? Assume that the box has top.
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17. An S-foot-high fence is located | foot from a building.
Determine the length of the shortest ladder that can be ’

leaned ag:umt the I}ulldmg and touch the top of the fgnce~ ”r A s
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